C360 HPE Alletra Storage and SAN Switches

#645869 V3

Prepared for:

City Of Merced



Products

#	Item	Description	Suggested Price	Discount	Qty	Price	Ext Price
This	This quote is priced and quoted using contract guidelines for Statewide ETC contract 1-19-70-19H-1.						
Contract overview and details can be found at www.ca-etc.com							
1	R8P28A	HPE SN3600B 24/24 PP+ 24p 32G SW FC Swch	\$51,747.00	73.00%	1	\$13,971.69	\$13,971.69
2	QK734A	HPE Premier Flex LC/LC OM4 2f 5m Cbl	\$114.00	73.00%	24	\$30.78	\$738.72
3	R7R97A	HPE SN3600B 24/8 8p 32Gb SW SFP FC Swch	\$18,759.00	73.00%	4	\$5,064.93	\$20,259.72
4	R8P28A	HPE SN3600B 24/24 PP+ 24p 32G SW FC Swch	\$51,747.00	73.00%	1	\$13,971.69	\$13,971.69
5	R6B13A	HPE B-series 32Gb SFP28 LW 1pk Sec XCVR	\$8,838.00	73.00%	1	\$2,386.26	\$2,386.26
6	R6B13A	HPE B-series 32Gb SFP28 LW 1pk Sec XCVR	\$8,838.00	73.00%	5	\$2,386.26	\$11,931.30
7	HA113A1	HPE Installation SVC	\$0.00	0.00%	1	\$0.00	\$0.00
8	HA113A1 5GA	HPE LowEnd SAN/Edge Switch/HAFM Inst SVC	\$559.00	36.00%	6	\$357.76	\$2,146.56
9	HU4A6A5	HPE 5Y Tech Care Essential SVC	\$0.00	0.00%	1	\$0.00	\$0.00
10	HU4A6A5 ZTL	HPE SN3600B 24/8 8p 32G Swch Support	\$1,821.00	42.00%	6	\$1,056.18	\$6,337.08
11	HA124A1	HPE Technical Installation Startup SVC	\$0.00	0.00%	1	\$0.00	\$0.00
12	HA124A1 V0S	HPE Tier 1 Storage Array PP Stup SVC	\$5,500.00	36.00%	2	\$3,520.00	\$7,040.00
13	HA124A1 5MR	HPE Tier 1 Storage Array Startup SVC	\$6,773.00	36.00%	3	\$4,334.72	\$13,004.16
14	H36NMA1	HPE Zerto Quick Start Remote SVC	\$7,500.00	100.00%	1	\$0.00	\$0.00
15	H33XYA1	HPE Training Multiy 1Yr for Storage SVC	\$100.00	26.00%	30	\$74.00	\$2,220.00
16	R4U29A	HPE Alletra 6030 CTO Base Array	\$78,908.00	73.00%	1	\$21,305.16	\$21,305.16



Products

			(5)	
#	ltem	Description	Suggested Price	Discount	Qty	Price	Ext Price
17	R0R14A	HPE AL STG 2x32Gb 4p FC FIO Adptr Kit	\$36,720.00	73.00%	1	\$9,914.40	\$9,914.40
18	Q8F92A	HPE NEMA 5-15P-C13 1.8m US FIO Pwr Cord	\$1.00	100.00%	4	\$0.00	\$0.00
19	R7S84A	HPE Alletra 6000 92TB 24x3.84TB FIO Bdl	\$406,754.00	73.00%	1	\$109,823.5 8	\$109,823.58
20	R9X15A	HPE Alletra Tier 1 Storage Array Std Trk	\$1.00	73.00%	1	\$0.27	\$0.27
21	R7G13A	HPE Alletra 6000/H 4x1600W FIO AC PS Kit	\$7,200.00	73.00%	1	\$1,944.00	\$1,944.00
22	Q8G27B	HPE Tier 1 Storage OS Default FIO SW	\$1.00	73.00%	1	\$0.27	\$0.27
23	R4U29A	HPE Alletra 6030 CTO Base Array	\$78,908.00	73.00%	2	\$21,305.16	\$42,610.32
24	R0R14A	HPE AL STG 2x32Gb 4p FC FIO Adptr Kit	\$36,720.00	73.00%	2	\$9,914.40	\$19,828.80
25	Q8F92A	HPE NEMA 5-15P-C13 1.8m US FIO Pwr Cord	\$1.00	73.00%	8	\$0.27	\$2.16
26	R7S82A	HPE Alletra 6000 46TB 24x1.92TB FIO Bdl	\$214,080.00	73.00%	2	\$57,801.60	\$115,603.20
27	R9X15A	HPE Alletra Tier 1 Storage Array Std Trk	\$1.00	73.00%	2	\$0.27	\$0.54
28	R7G13A	HPE Alletra 6000/H 4x1600W FIO AC PS Kit	\$7,200.00	73.00%	2	\$1,944.00	\$3,888.00
29	Q8G27B	HPE Tier 1 Storage OS Default FIO SW	\$1.00	73.00%	2	\$0.27	\$0.54
30	R6J72AAE	Zerto Virt ECE 1VM E-LTU	\$985.00	100.00%	15	\$0.00	\$0.00
31	S0R29AAE	HPE Alletra STG 6000 /TB 5yr SW/Sup SaaS	\$1,250.00	73.00%	184	\$337.50	\$62,100.00
32	HU4A6A5	HPE 5Y Tech Care Essential SVC	\$0.00	0.00%	1	\$0.00	\$0.00
33	HU4A6A5 ZUM	HPE Alletra 6000 2x32Gb 4p FC Kit Supp	\$2,059.00	42.00%	3	\$1,194.22	\$3,582.66



Products

#	Item	Description	Suggested Price	Discount	Qty	Price	Ext Price
34	HU4A6A5 ZUF	HPE Alletra 6030 Base Array Support	\$5,162.00	42.00%	3	\$2,993.96	\$8,981.88
35	HU4A6A5 ZV4	HPE Alletra 6000 AF 46TB 1.92 Flash Supp	\$13,852.00	42.00%	2	\$8,034.16	\$16,068.32
36	HU4A6A5 ZV6	HPE Alletra 6000 AF 92TB 3.84 Flash Supp	\$26,317.00	42.00%	1	\$15,263.86	\$15,263.86
37	HU4A6A500AF	HPE Zerto Virt ECE 1VM E-LTU Support	\$1,346.00	100.00%	15	\$0.00	\$0.00
38	QK734A	HPE Premier Flex LC/LC OM4 2f 5m Cbl	\$114.00	73.00%	5	\$30.78	\$153.90
39	QK735A	HPE Premier Flex LC/LC OM4 2f 15m Cbl	\$162.00	73.00%	5	\$43.74	\$218.70
40	R9D23A	HPE C13 - C14 2m WW PDU FIO Pwr Cord	\$16.00	100.00%	8	\$0.00	\$0.00

Subtotal: **\$525,297.74**



Quote Information

HPE Alletra Storage and SAN Bill To:

Switches Main

Quote #: 645869 678 W 18th Street

Merced, CA 95340

Creation: 06/27/2024

Expiration: 07/27/2024

Jeff Bennyhoff

(209) 385-6829

Ship To: Main

678 W 18th Street

Merced, CA 95340

Jeff Bennyhoff

(209) 385-6829

bennyhoffj@cityofmerced.org bennyhoffj@cityofmerced.org

Prepared By: **Jason Repose**

(916) 508-8717

jason.repose@e360.com

e360

1855 Gateway Blvd, Ste

Concord, CA 94520

Summary

	Subtotal:	\$525,297.74
Products		\$525,297.74

Estimated Tax: \$32,055.58

> Total: \$557,353.32



Agreement

Terms and Conditions

This quote is valid for 30 days All freight, handling charges and taxes will be added to the final invoice.

Payment Terms

Invoices are due and payable Net 30 days of invoice date. Invoices paid after that time will be subject to a 1.5% per month finance charge.

Return and Warranty Policies

All hardware products that are supplied by e360 are returnable for up to fifteen days from delivery for a full refund, as long as products have not been opened. Should client open any products within this period, they will be subject to all open box policies of the manufacturer. This could mean full refund, restocking fee or no return, depending on the manufacturer. Licensing is not returnable unless authorized in advance by the manufacturer. Dead on arrival (DOA) and defective returns are valid only for exchange. Beyond twenty-five days from the date of sale, you must contact the manufacturer directly to initiate a warranty claim. You must have the original boxes, documentation, accessories and packing materials for all returns. Incompatible is not defective. e360 will test all DOA/Defective returns. Any product deemed not defective or DOA will be returned to customers at their expense.

All returns are subject to manufacturer specific return guidelines, which may deviate from e360's standard return policy. All returns require a valid RMA#. The product must be shipped in order to arrive at e360 within 15 days from the invoice date.

Signature	
Signature	Date